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L SisuGurmer Lpdlw, ‘ppploan’ predled ypliGurmer Geuiglsenn, sllps
aurerpmis GPliysesd swCa B GubPliTss @Dlésssssg).

2. ppdlmens Oewy st  ealLigsd  FAmevwouyd, vyl GLmeLould
OlsraniLame.

3. poPlans QFUILL G6T SUDLITEUTE) DY TEM6.

4. poPloanows Csr@LUldsaa US@T® SbS LI eulpdl  eTaTEILD

LITGUTIQU  LDGOTGOTGOT <&, GUITIT.



74.

75.

76.

77.

78.

B) 2 wpmib 4 sflwmpmeneu
D) 1 whmid 2 gflupmene

(A) 1 wpmub 3 sflwHmeneu (
(C)3 wpmib 4 sflwpmeneu (
‘difla@aw’ upPlu spmissefled Curpmss wppmss @GOILLIGS.

(A) gifls@an BrHm Syew® Oeuairssmend OlaTewiL &)

(B) giflaQasdler oy difluir BebevrseanTir

(C) gifla@ad LSOlemment SipsEans@ HITOSEHET QTN

(D) g&@, leng, Slifledlwmed e wmbaSGU Ouwim Sifls®sib.

ughge, e g&w, udims, uell eaaeun Oerpaefler  GQurmer .........
GTRTLIST(SHLD

(A) a9 (B) wiremenr (C) wpsemev (D) wumibyy

LlLLQLUGO 8@1@6’0 e eiron  apallensullar Qg Guwengupd Byeringed o sier

INTHN wenguyb Gl &8 Oar@sasiBerer  Ggm@Lilled)
5,%)“_,;’6,, oﬂml_uﬂgo)uic’arg @grﬂggg&u_’a ¥ o 0 s w3
uliquied @emi uliquied Qyewi(
apallenaullenr Gumrgns Guwir Awcys Guwir
(a) argieuaner 1. @il
(b) smmTemLp 2. @reILl LIFSlaney
(c) sflamevmmis e 3. Bl wHHS!
(d) @ondens 4. Csayrgid
(@) () (c)  (d)
a 4 3 1 2
B 3 4 2 1
© 1 2 3 _ 4
D 2 1 4 3

aflms geamiLar . aflms  @ewngemen’  GuUmTHS mrﬂn&eﬁ@eﬁ@eﬁ $Cyp
Oar@ssri@eren Osr@lilalmbg sflwurer aflmLwilemars Osfla) GFuis.
afleng @eaim aiflang @Qyewi®
(a) GarewaCuw, semGeu, smosd allmwey 1. o arend Ferals Csmermeier
(b) CumuiGw, @meen, &®Heh0FT6D,
vwefled Gamed 2. aaig @uwiedGu
() Gav s, Geaugare, Gureerdasr dl 3. o Libfled Cararmeue
(d) Ao, apsgmir, e Cpmubmir,

Bopbai 4. Qarevalled Camevmieueor
(@) () (c) (d)
a 3 2 1 4
(B) 3 4 1 2
© 3 1 2 4
™ 3 2 4 1

‘apsOsmeitenmuilyd’ updw EpsasTapid Fapmseiled CUTHSSWDYMSS G ([HS.
(A) @pgOzrarenudlys um_osafled ‘LpSSL®’ aogud preflar eumullors 108
ouemiLIT& a6 L HCwer dlenL g gleierne.

(B)uempw 2 oyrresaied  Cunlstems 22 urLeser dmshs Bloevwiled
STGILILI([HS 1m0



79.

80.

81.

82.

83.

84.

(C) uppsiflpr  vewun®, sSlps  apCoubsTeEer, SeUTHD LIMLS6T, aiJiTHer,
Gummuiled pemmser OlETedeLILIL (R6iTenet.

(D) gemeu W@Hs alHSSLILTGEEET SHLIMES HeTEhIAWILTHE SlspElammen.

uliqued @amiea ulique Bevien s Gurmpgd), ulQueasErsEEGE &0 2 6T
OQareulledmpa flurer alo_uwlmears COsifley Csuis

Ul iQuied gem) ulguied Qyewih
(a) Berllb@mIs a6 1. sLaC0ns
(b) eureitOOlp B evrewd] 2. allgmeor’ &
(C) LiLpLOEMEVBTSIT 3. Qeirewiyfgagyi
(d) QeQumer weTeflusmit 4. aflmpgSfHeur
(@) () (c) (d)
a 3 4 2 1
B 1 2 3 4
© 2 1 4 3
D 4 3 2 1

Spsaranid apmsailed Gurmsswpnmss Csirea) GFuis

(A) spens Quflwrt ‘LGdsdleurart FEGSMS Blmeileari:

(B) Ouflwirit seirepdaemL  wflutedled mGLILLTT.

(C) Guflwrit wargwor ampgluilear Garemw it sy er.

(D) @sampwneny  Buisssdled LmGaspy apRIDedT  a(BHB6T  FewneuTFd
SIS STIT

auiiGer gy fufled y@pBT raflensd@er - Lisvews dlafled GlFeeud 2 flanio

WIT(H&E eUIPBISLILILL &7

(A) elggrseui (B) @yaibg gmIsT

(C) ugehGeng) pailouit (D) g@mbl

‘et Fred’ @b mredler oy Aflwir wimir?

(A) BenmCaranqger (B) Fs3mev& Fnds et

(C) dlmsssa Gsouir (D) glmeuanameuir

QU ggias

(@) @ubenLs 1. euevibryif]

(b) @IS FLoGRTGH 2. smefl

(c) Slvaeaudl 3. BTVF FMIOSMEIS]

(d) urduwir 4. alligesr apeneulled @b FLOWICVED
(@) () (c) (d)

(A) 4 3 2 1

B 1 2 3 4

© 1 2 4 3

m 4 3 1 2

uliquied gaidled 2 eter  QsTLiTEMmems uULliIQued @pesnged 2 eter  QBTLIT
amasCeamm® Ourmsd o fu allmrmwus CarbOs®sa oSS
UL IQuIed &Ml uciquied Byewi®
(a) eraiGarr, oulleller oyp@! 1. adliwemmsg G
(b) sewrewiesr LML LGS Slevest 2. o auitddlg Ogmii



85.

86.

87.

88.

89.

(c) wenflGomfl wfla Gummmer 3. slLemeng O

(d) 2-mipsgis Lilmip 4. 2 L@ (g O
(a) () (c) (d)

a 3 4 2 1

B 3 4 1 2

© 2 1 4 3

m 2 3 1 4

uliqued gaidled 2 eiten GEmedenevs uliquied Bewnged o eiten  GLITHEHL 6T
Qurpgdls gnwrer aflmLmws CaibOs®ss 6aupss.

uliqued @eaim — Gamed ulued Quemi® — Gummeir
(a) Cabir 1. eIy BI6T
(b) wpibmmeir 2. CaaCured Beflus bir
(c) Caeiir 3. (pheSW [BIT6IT
(d) apevremarr 4. Caullewev it

(@) (b)) (c) (d)

A 4 3 2 1
B 4 1 2 3
© 2 3 41
W 3 4 1 2

OQempens @uEEGUERSSE QermOprigrsdl efwrer Gsmamyds @dILBs.
(A) uewLiord Cuaser uLmer G&TemLwLh LBS® SADOF

(B) Guaand GQameniol b LB B6D6VGI LIGHL DL LD LIL T6H

(C) Cuasear LemLOLLD LHSD HeDG CBTELLOLLD LILT6T

(D) GarenLiortb Cuaa LB SYDEVSH| LIGHLLIOLLD LILT6

O Gis:
(a) amoy 1. srgewd FAprgl Guuwi
(b) wogid 2. @0l Gurgis Guuiir
(c) euemanuied 3. YsiT
(d) wemev 4. @EGOICLWIT
(a) () (c) (d)
1 2 4

4 1 2
4 1 3
3 2 4
SipsaremLiaeupmier CUTmSswHDMSS GDILILIGHS:
(A) gy OFng&asBTEBTWLSST Wareiall@yTent OEIGLOLOTET
(B) @ymewil wmubworefler  waar  oymis  EpLiqen  (pSa  aIgLiLer  wearal

Blgrend] (pSSLbLoTeT
(C) @ymewil wmisboTeflar CQuuwiger aflewymiss CarssbTSaH

(D)ulgeriuremey, ureenquieilar  aipF  Oewebsmens  Cumpmles  snmub
SLOIPLILIG6UED

Uifs0supais: Brétsrmauaildame
(A) pr + Ggremevailsdeancy (B) p1g0smemevey + Bedenev
B)pr + Garemev + Bedenev (D) pr + Ggremove) + Bedenev



90. Cprsdlemear - Ceuir Gameamews Csirey Oeuis
(A) Crrs@zed (B) Cprasl (C) Crradlweuer (D) Corée

91. QurmpbsTs Bamemamwds SemiLpls:
(A) Cewemiawilt - vemiLs GsTens
(B) @myCaiized - allmarsbsmans
(C) prflewseumyd - o bewing Olgrens
(D) sulloorws Geuiry - @HEUWCITC G Ui 0lgme

92. Quy - @FCsredausarer almaippmns Cairnb6ls®H:

(A) Gummmest (B) Gummeuest (C) Qumpay (D) Gupmeui
93. Ulareumeuareupmier seupren Denewieadwis &Gl (HE

(A) Fmay x Gluiflgy (B) Slewienilgy X euedla

(C)e-wirey X smpey (D) peiimy X S

94. ‘Cor@perrw Oeallwer, ol e seviiar eam OCBmgmed @GplésLm@ei
(A) 2_awOuimm urseamd FeublLimLome
(B) Gaurgib Casmallbseimd &ewieie
(C) wymwogid giflmens ' Glewensd Bymioe
(D) womiogid H19565 Hewilans Gaseve

95. Gemeveusd Siwssw S 2 ultywss ag?

(A) =1 (B). 2ar (C) e (D)
96. Spsasremuaeupmer GOurmbsTE QETeanews e pls

(A) Glour &g glememr (B) curemagglenevr

(C) wpovemevs Slewenr (D)ouehdls Slenemr

97. aflwumen agimsmwus Gsis:
‘ereirony SApriflar @evowseuir eflusii
LeTenm) Ljeisenr &isCspmeir Syeiluyb’
(A) eraronm — eflwii (B) yeienm — eaisem
(C) eraironmy — Ljei@mm (D) dwiifler - yewias e

98. aflewenpmmy, OLwirFQared, aflmarFbared gl Qeupdlemens vweflemeowrsds
Oaremi® (pqeugi?
(A) prewigmd Coupmiento (B) @yewi_md Coupmiemio
(C) waed Coupmiento (D) @ypmd Caupmrenio

99. Uleeumeuareupmier Lewiyl Guwit yewiréSlemws @dlasts alldl eg?
(A) sarGammmly Led (B) @iquisgh guimged
(C) waaim @bolflba o uifm euiuepd (D) @eLwsyn @uiwimrged

100. Qu@pen + safly = Cu@Eprisaiy: Lawrsd) aldewsd Csinb6s®:
(A) oy Cuinged, GenLwsyd Buiwimsed
(B) rmy Cunged, IquisSyd guITgeD
(C) ray Cunged, gl BLed, wpeaiblam Goui Fflged
(D)ray Curged, Benlse



101. Arjun Tulshiram Pawar, who passed away recently, was related to
which field?

[A] Sports [B] Journalism [C] Law [D] Politics

wmDHS ST Greddlgmbd ureurt ebs gGempuliled Fmbg ellensidlemir?

(A) allememuir ® (B) ugdlflsama (C) elLb (D) @wdluwed
102. Who will be the Pakistan’s new High Commissioner to India?

[A] Husain Haqgani [B] Abdul Basit

[C] Sohail Mahmood [D] Maleeha Lodhi

Sidureysarar urdlavgrailar Yy ymevwyrs wrir Blundésind Berermi?

(A) 2_maar an@eurefl (B) @iigied umdl
(C) Garemamed 10&Lpg (D) wrevebevr Gevrg
103. Who has been sworn-in as the new President of South Korea?
[A] Moon Jae-in [B] Hong Joon-pyo
[C] Goh Kun [D] Roh Tae-woo

Osear Qasmilureilar yglw gamdludlurs wrr oflwenent eggleni?
(A) eperr Glagu's-Bevr (B) ewmsr gher LS1Cuwim
(C) Cam (e (D) Gy Lt ey

104. Who has been appointed the new India’s Ambassador to the
Kingdom of the Netherlands?

[A] J S Mukul [B] Pooja Kapur

[C] Venu Rajamony [D] Nitish Jha
Opgireorbgbarar Dislurailar s srgeugrs wrir Blunfésid Geremnrir?
(A) Gag.etard. (@p@6v (B) year sy

(C) Couemy grgeCGuomarf] (D) gllqad g

105. The headquarters of Central Board of Direct Taxes (CBDT) is
located in which city?
[A] Chennai [B] Kochi [C] New Delhi [D] Pune

Central Board of Direct Taxes (CBDT) air sameenowisd 65 BETSSle
SIenLDbGl6TeNnG)?
(A) Qaerener (B) Qsr&sl (C) ya Qv (D) ,Gen

106. Arrange the following events in descending order

Home Rule League at Poona

Conclusion of Kakori Case

Muruder of S.P. Saunder

Punjab Governments deportation order of Dr.Satyapal and Dr.
Kichlew

(A)1,4,2,3 B)3,2,4,1 ) 4,3,1,2 D)1,3,2,4

PO



daraumuamasmer 2w poowula ghur® Geuiwea
1. eorm g,mﬁwm_&ﬂ &IPHLD FHUBSSLILILL.  H,6001(H

2. &nCsmfl eups@ wWpgeydy e[
3. aav.ll. Oeemai Oareme OguwiwuilL  syewi0
4

LTSLT FSWLTED opMId LIGLT Sl Fedeu LGHFTL JFmed BI(H SLSSLILLL
SEC)
(A)1,4,2,3 B)3,2,4,1 ) 4,3,1,2 D) 1,3,2,4

107. Supreme Court of India is considered as possessing larger powers

than the Supreme Court of USA. Why?

(A) Indian Supreme Court is not only a Federal Court and the guardian
of the constitution and as well as highest court of appeal.

(B) American Supreme Court is not having power to entertain appeals "
from tribunals.

(C) Supreme Court of Hinda has advisory Jurisdiction which the
American Supreme Court is not having such power.

(D) Because of all the above

Bidu 2 55 HIloamid, cg;@wrﬂ&.&n 2 &5 BIwapsms ol Sgls lamybd

Gupm Slspagns SHSILGEDS. Geir?

(A) @bl 2 Fabslwapd galLr s pSloapore  SepaiCsr® i He],
SflweeoLi  sraueaiTdard o & Guped  (pepuil(H  LOGTDLOTHLD
Fepalng.

(B) @Qwrfléss o &fbgoampn  Sriumumsaier Guosa wpapuiler  allemfléss

WGVTS).

(C) Bnglw o Fapdoaipd  o,Coomgemen Emib Flsmyn COUDmIETATE. ) eTTed
S0oflés o Fahdlwambd eeadlaryn OClLnmlnhssailsme.

(D) CLop&emiL. 61606V I [T U RIS (@ETH & BT HALD.

108. After the decline of Satavahanas, who emerged as important
political power in South India
(A) The Abhiras (B) The Trikutakas
(C) The Ikshavakus (D) The Pallavas

Gsaalipdurailsy arsansarseiar alpsfls@t  Ular  wrOumn — Spdwsed
FaFwurs o HOauBSS aubsTesef]

(A) @uilgmerd (B) glflanLiraein (C)@sagaims (D) uevevairsar
109. Consider the following statement:
Assertion (A): Jainism had more influence than Buddhism on
the life of the people in Tamil Nadu
Reason (R) : Jainism had much more in common with

Hinduism than Buddhism.
(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true



Spssei aursElumismen seuefl:

anpm (A) : silps wasallar aumpsmaswlar g Ouass wWss5sMmS
ol Fweanwsd Fls STEESMS GHUGSSWLISG).
smyewnd (R) gwen wed Ouass wessmsall. Bbg WSSSHL6T Lo

anmiseir Qurgleuras GubmieiTeng.
(A) (A) womd (R) Byemipn &fl yemed (R) eaiug (A) alh@ afluwmer
TS SHLOGOG
(B) (A) wpmid (R) @yewipd &l Cuweid (R) araiugy (A) aflb@ #flwmer allendsid
(©) (&) ol syemed (R) soupy
(D) (A) soupy spemred (R) o

110. Match List I with List II and select the corret answer:

111.

List - I List- II
a. Warren Hastings 1. Treaty of Mangalore
b. Sir John Shore 2. Hafiz Rahmat Khan
c. Dost Muhammad 3. Policy of Non-intervention
d. Lord Macartnay 4. Lord Auckland
a b c d
(A) 2 3 4 1
(B) 1 2 3 4
(C) 3 4 1 ”,
(D) 4 1 2 3

utiquied I orer uliqued II g Gurpsdl sflurer allmuilmar Gsifley
QFuis:

a. eurganr Camedigmied 1. LDBISEHT 2 L GIILIG S 605
b. &1 grar Cagmir 2. amlied JHLOG SHTe
c. Gamavg paws 3. st Gsmretansg
d. Qs Ger . Lilyy 4. Qpdevemi’ Ly
a b c d
@A 293 “a
B) w1 &2 3 4
© 3 4 1 2
@ “4 1 2 3

Auditing the Governmental expenditure is vested with the
1. The Finance Minister
2. The Prime Minister
3. The Finance Secretary
4. Comptroller and Auditor General

(A) 1 only (B) 2 only (C) 2 and 3 only (D) 4 only
SsThEsSlar OFwasmer sadamas OFuuw yFlsrynd GLUbpeut

1. [l Semwaai 2. Lﬂg‘e_ir)LL)LD[_BﬁrF’Q7

2. Blgl Ggwevr 4. s Fallsmes SLEUUTLH Sl

(A)1 v  (B) 2 wl@w (C) 2 womd 3 L HLd (D) 4 1ol (b



112. Find out the pair of wrongly matched wate dispute tribunals

1. Krishna water - Maharashtra, Karanataka and Andhra
Pradesh

2. Narmatha Water - Rajashthan, Gujarat, Maharashtra and
Madhya Pradesh

3. Kavery Water - Karnataka, Kerala, Goa and TamilNadu

4. Ravi and Beas Water - Punjab and Haryana

(A) 1 only (B) 2 and 4 only (C) 3 only (D) 4

only

sauprs  GPLIL@eter IS0 Ussmer  Froumwd  wpped  pSleafler
s SaupLlg.

1. é?@mmmr by - LOQDTITOUTT, ST SLD, @ﬂ,gﬂgl.ﬂ.ﬂg@gﬁw

2. BIwsT b - JTERGVSTGH, (HQITSH, LLADTITAJGYT,
Log;g‘,?u_n_ﬂg@g;&w

3. &nQeufl it siprLa, Csgent, Csmeur, sOIPHTEH

4. grafl womrd Slusrerd ﬁn - LI@haTLl, amiflwimesm

(A)1 wi@w (B) 2 womid 4 wl B (C) 3 wL(w (D) 4 L (Pb

113. Which of the following statements about National Development
Council is/are wrong?
1. Naitonal Development Council was set up in 1952
2. National Development Council is 'concerned with social and
economic policy
3. It is akey institution in Centre State Relations.
4. It consists of principal secretaries of all the ministries.
(A) 1 (B) 1. and 2 only (C) 2 and 3 only (D)4

Cadlw Cuburi®  Guees  uph SPSSIIL  FaDHDIGETd  SeUDTRTM6

151/ eTemeu?

. Cadlw Cuwbur’ @s@up 1952 Q6 MLGSILILL G|,

2. %g,é?u_l Cuour_ Ga@w Fups woms Gurmemmary OaratemasuLer FEHUT®H
ST GIIL G|,

3. weIw wrplev 2 Paysailedy Ba e (PSS BlmeueToT@Lb.

4. YmaSG SMFSSEISGE (pHeiemnw OFwereriamer @ g GubmieTeng).

(A) 1 (B) 1 wpmid 2 (C) 2 woHmid 3 (D) 4
114. Match List I with List II and select the corret answer:
a. MGNREGA 1. To upgrade housing for BPL, SC/ST.
b. SGSY 2. For benefit of rural women
c. 1AY 3. Guaranteed wage employments for atleast 100
days
d. IMY 4. For improving the family income of rural poor
a b c d
(A) 1 2 3 4
(B) 3 2 4 1
(C) 3 4 1 2
(D) 3 1 2 4



ulgqued I erer ulque II g Qurmpsdl eflurar aflorullamer Gsiflay

Qsuis:

a. MGNREGA 1. aumiemo Carligm@ $ip 2 etereuiaser ererd.dl. / erar.ig
Uiflellerita@ ai® sLg Oar®ssed

b. SGSY 2. dlgmo Ouewvigallar LIV@EHTS

c. IAY 3. 100 prar Geuewev o midlweniy S ib

d. IMY 4. dlgmo TP & &afler @GHOBLL UHLOTHISMmS
QUJIT‘Q')g_Ig')GD

a b c d

(A) 1 2 3 <

(B) 3 2 4 1

(C) 3 4 1 2

(D) 3 1 2 <

115. Consider the following statement:
Assertion (A): Under British Rule in Zamindari system,
landlords charged heavy rents from tenants.
Reason (R) : Under Zamindari system population grew,

decayed and demand for lands also grew.
A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)
C) (A) is true but (R) is false
D) (A) is false but (R) is true

— — — —

Sipsaeui aursEmismen seua:

apm (A) : Ul iged pLfullar Sp solargmfl (Bomg)mﬂsu Blev
Ly sseT1@SsmasTrf b HPls &55meS
UG ISSITE6N.
srgewd (R) Gwpum Qy_eﬂu_ﬂsv el (y)mg)uﬂa) Loasem_@grramas

QLmaspd, Elymomiseailed ufleyd gHLL L ST
mﬂm(?mﬁs(ubom&aﬂgr Gzameu @uggg)gfm ?
(A) (A) wpmw (R) @yewipn &fl yemed (R) eaiug (A) alh@ gfluwmer
116 & LOGVEV
(B) (A) wpmi> (R) Byewipw &l Cuaid (R) aaiug (A) aflpg gflwrear allendsid
(© (A) o yamsd (R) gouy
(D) (A) soups spemred (R) o

116. The A, B, O blood grouping was first discovered by

(A) Landsteiner and Levine (B) Muller H.J.
(C) Morgan (D) Weiner

A, B, O @335 cumaamen (pgaiipgeled sauBLiligsseuir
(A) Gt ebvemreom wpmid Glevaile (B) pevevir H.J.
(C) wrirager (D) Glouullesreorir

117. Match List I with List II and select the corret answer:

List- I List - II
a. Adenine 1. Uracil
b. Thymine 2. Sugar
c. Ribose 3. Pyrimidine
d. RNA 4. Purine



a b c d
a 3 4 2 1
B 2 3 1 4
© 4 3 2 1
m 4 3 1 2
ulgued I erer ulque II g Qurmpgd eflurear aflorullomer Gsiflay
OENTEE
ulCiquied I uLCiquied IT
a. DIQmGIeH 1. wGydled
b. engdler 2. FT&EH
c. anyGumerd 3. Uilfbligeor
d. sy.erene 4. Ciugfles
a b c d
a 3 4 2 1
B 2 3 1 4
© 4 3 2 1
D 4 3 1 2

118. Find out the incorrect statements among the following with
regard to Rajaji
1. Establshed Gandhi Ashram in Pudupalayam
2. Started Salt Satyagraha in Tamil Nadu
3. Home Minister in the Interim Government
4. Industrial Minister in the Free India
(A) 1 and 4 (B) 2 and 3 (C) 2 and 4 (D) 3 and 4

gregred @55 ef@as&mn_ as@gg,jasaﬂsu SaUDTATECISMEN Oaifley Glaul

1. gregmeg] LgLTEmETUSSleD STHS] HETIOD JDOSSTIT.

2. slpasdled o Ly FSSWTSysd YIbLilGsTT

3. DL ssm0 SFled 2 aTgmD DMOFF.

4. &apdlr @pdlwrailsy Csmfled gewp s

(A) 1 wom> 4 (B) 2 wmmid 3 (C) 2 womd 4 (D) 3 wppud 4

119. Find out the wrong statement among the following:
1. Bharathi acclaimed Gandhi as Mahatma even before Tagore in 1910.
2. He burnt foreign cloths at Madras Coast in 1906
3. He was exiled to pondichery from 1908 tp 1919
4. Sub-editor of Swadesamitran in 1904
(A) 1 and 2 (B) 2 and 4 (C) 3 only (D) 1 and 4

ef&oa;nmumg)ym Saupmeren a;am@l_ﬂlqa;&mw

1. STan(Hs @m@u STl OTSSIOT eTer 191060 LITTS] LSLPHSTIT.
2. 1906-00 Olgaienen sLpsmyuiled Cwamenrl B$ giailsamen erflsgmi
3. 1909 — 1918 euewy unewngsGafls@ BT® SHLSSLILILLT.

4. 190460 #Capaiflssreaflar gment oy, diflui

(A) 1 wHmmd 2 (B) 2 wmmud 4 (C) 3 (b (D) 1 wpoud 4



120. Match List I with List II and select the corret answer:

List- I - City List - II - Climate

a. Manaus 1. Mid Latitude arid and semi arid

b. Valpariso 2. Rainy Tropic

c. Chennai 3. Dry summer sub tropic

d. Denever 4. Wet and dry tropic

a b c d

(A) 3 4 1 2

(B) 2 3 1 <

(C) 4 2 1 3

(D) 2 1 3 <

uliqued I erer ulque II g Gurmpgd eflurear aflouwlmar Gaifleay .

OENTEE

uliquied I - payd uquied I — sreplanev

a. LomeTTen I. wWHIW SILF LT WHMID HeF. LITEH6

b. aureumyGsr 2. W UG

c. OFarener 3. 2.1 et aupewiL CsmenL

d. Qefleur 4. FJ DOMID CUDENIL  BjUI6uT

a b c d

(A) 3 4 1 t

(B) 2 3 il 4

(@)} 4 2 1 4

(D) 2 1 3 4

121. Consider the following statement:

Assertion (A): The exectuvie and the legislature of the Union
shall have extraordinary powers during an
Emergency.

Reason (R) : The Union Executive has the power to give
direction to a state only to matters specified in
Art-256-257

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Sipsaemi aursEmisamen seouef:

aom (A) : Obmpésq dloeowllar  Gurepg  eww  Blreursepd

FL L LDGTM(LPLD SNFSFIDLIL S|SB T IS 61T O e

B(m&ELb.

&mrgewnd (R) afldl  256-257ullelr  LgFT@T  ewiowl  Bliteunsd @

N AEE TG sl Lener Upliléspquid

(A) (A) wpmd (R) @yewipn &afl yemed (R) eaiug (A) alhe@ gfluwmer
& SLOGIEV

(B) (A) wpmid (R) @yewipd &l Cuweyd (R) aaiig (A) aflp@ gflwrear allendsid
(C) (A) af gpemed (R) seoumy
(D) (A) soups sponed (R) o



122. The star seen closed to earth is

(A) Sirius (B) Alpha Centauri (C) Cygin (D) Luyten
yllé@ s symsteawulled) sraviu®n allasiber
(A) Sifluyerd (B) @pov. .ur Qear@Lent]  (C) @sageurs (D) amevGlL_eor
123. Match List I with List II and select the corret answer:
List- I List - II
a. Yakshangan 1. Maharashtra
b. Tamasha 2. Karnataka
c. Raslila 3. Bengal
d. Yatra 4. Manipur
a b c d
(A) 2 1 4 3
(B) 2 1 3 <
(@)} 3 2 4 1
(D) 1 2 4 3

utquied I erer ulque II g1 Gurpsdl eflurer aflmiuilemar Gsifley
Olguis:

ulCiquied I | uLiquied IT
1. WSaesmerT 1. LD&TITOJAUQILD
2. SOTOT 2. SIBIL LD
3. grevedevrm 3. QUEBIGTELD
4. wngym 4. wewilLyi

a b c d

(A) 2 1 4 S
(B) 2 1 of 4
(C) 3 2 4 1
(D) 1 D 4 3

124. Which of the following statements about ‘Fundamental Right’ is

True?

1. The Fundamental Rights are contained in Part IV of the constitution

2. The Fundamental Rights are non-justiciable.

3. The Fundamental Rights promote international peace.

4. The Fundamental Rights guarantee the political freedom, to the
citizens.

(A) 1 and 2 (B) 1 and 2 (C) 3 only (D) 4 only

sqLitienL 2 fevwser Lpdlw Spseri. mppisaied Fflurareaney ereneu?

1. eduemoiiy u@gdl IV & eugliuamr o fawser L midljerens).

2. QuqLiuemL o femwser FEOGDSST B aUPEIGUSDE LILTHLLL )

3. QgL o feniser LIGDTGDTITL@ ienwglenwt  GLODLIHSSHISIM S

4. QUL o flenwsen (GHIQLEEHEHE ATFWD FSHITSMS  AIPEIGASHSE
2 g dlreunsioailsSlement

(A) 1 wHmmd 2 (B) 1 wmmud 2 (C) 3 (b (D) 4 1ol (b



125. Match the following:
List- I List — II
a. 44 Constitutional Amendment Act 1. Delimitation of constituencies
of basis of 2001 census
b. 61 Constitutional Amendment Act 2. Reservation of seats to last
until 2010
70 Constitutional Amendment Act 3. Voting age reduced from 21-18
87 Constitutional Amendment Act 4. Privieges of each house of
parliament, its committees
and members.

R o

a b c d
(A) 2 3 1 4
(B) 4 3 1 2
(C) 3 1 4 2
(D) 3 4 2 1

Ulereaumeueneupenmls Quimmsgis
ulCiquied I ’ uLCiquied IT
a. 44 oyfluemoliy FLLdlmesnd 1. 2001 wsasl Oarms sansbs®LL
Siqliuenufled Csm@dl oy
GUGMT U M)IS H6D
b. 61 eyl FLLSBSSD 2. 2010 cuemwg B @&iss®H OB (pLb
c. 79 el FLLSHSSD 3. auTes6ile@Gw g 21-18 96
GHODSSLILI([HS 60
d. 87 ey FiLBmSSD 4. UTFTEBLEDSSlaE  eaubeurm e euulle
ML Blenevdseir, ST (@GPSHBET LOHMID

o muiflenirgeir
a b c d
A 2 3wl W4
B) 4 R* 4
© hmmN I
D . 3 -4 2 1

126. What is the value of A if each letter represents a different digit?
(A3B) (B) = 217B
(A)3 (B) 4 ()5 (D) 7

@alGleurp aupsdgd CewaBaiy Bowd@ eaafled A-ar Sl
(A3B) (B) = 217B

(A) 3 (B) 4 (C) 5 (D) 7

127. A perfect dice is tossed twice. Find the probability of getting a
total of 9.
(A)9 B) 1/9 (C)2/9 (D)9/2

usmL Quewi® (wpew SFPODLILGEEIDG. LB e 9 CUmasHETET
BEpSEe] SHTeRIs.

(A)9 (B) 1/9 (€) 2/9 (D) 9/2



128. Find out the wrong number in the following sequence.
22, 33, 66, 99, 121, 279, 594
(B) 33 (B) 121 (C) 279 (D) 594
Uereupd Garifled geupmer erewienem semiHLilg
22, 33, 66, 99, 121, 279, 594
(A) 33 (B) 121 (C) 279 (D) 594

129. Identify the missing:

8 12 9

10 7 20

3 10 ?
(A) 13 (B) 14 (C) 4 D) 5
APULLMG STens

8 12 9

10 7 20

3 10 ?
(A) 13 (B) 14 (C) 4 (D) 5

130. If two dice are thrown, what is the probability that the sum of the
two faces obtained is neither 7 nor 11?
(A)7/9 (B) 9/7 (C)1/7 (D) 1/9

Queni® useL ePWILGSGDG. LB 6amt 7 g 11 BoeTsSHETET
B&pSE6 6l6ien?

(A)7/9 (B) 9/7 (C) 1/7 (D) 1/9

131. The sum of two numbers is 20. There product is 96, then their
H.C.F. is
(A) 2 (B) 4 (C) 8 (D) 10
Bm aenseflar G 20. Seupdlar CLmEsed Leer 96. euallm eramiseiler
Br@Lm oGS5
(A) 2 (B) 4 C) 8 (D) 10

132. If TAMIL is VCMKN and HINDI is JKNFK then ODISA is

(A) RTGFC (B) QGIUC (C) SFJUA (D) QFIUC
TAMIL eaeg VCMKN wpmi HINDI aeug JKNFK eraflen ODISA
GTRTLIG]

(A) RTGFC (B) QGIUC (C) SFJUA (D) QFIUC

133. Find the smallest number exactly divisible by 12, 15, 20 and 27
(A) 540 (B) 570 (C) 240 (D) 270

12, 15, 20 woptd 27 YW aansmen WalaEd auEGEESFmIqU WsFAIW et
wrg|?
(A) 540 (B) 570 (C) 240 (D) 270



134. Next term in the sequence 7, 11, 9, 11, 17, 14, 15, 23, 19, .... is

(A) 19, 25, 22 (B) 19, 31, 20 (C) 19, 29, 24 (D) 19, 27, 23
7, 11, 9, 11, 17, 14, 15, 23, 19 ....... aaip OsrLfled SPGSS erewr
(A) 19, 25, 22 (B) 19, 31, 20 (C) 19, 29, 24 (D) 19, 27, 23

135. What amount should be repaid to clear a loan of Rs. 6,000
brrowed at 6 2/3% simple interest per annum for a period of 1 year
and 6 months?

(A) 6,800 (B) 6,600 (C) 6,200 (D) 6,400

QD@ 6 2/3% gallu'ly aigsdled . 6,000 SL& euTEISlaTed, 1 GUIBHLLD
6 I5S3IDE eealeueney CTens FlmHbU SLQaITEd HLET HenOUb?

(A) 6,800 (B) 6,600 (C) 6,200 (D) 6,400
136. Who has been conferred with the Tholkappiyar Award for the year
2015-16?
[A] A Dakshinamurthy [B] S Rajalaksmi
[C] S N Kandaswamy [D] R Kalaikkovan

2015-2016 Garen Ogmedsmislur eein alhg WT(héE UPBISLILILL g ?
(A) o1. B agemiTapTss] (B) ererd. gmegevr &)
(C) erari.ereor.  sppamidl (D) @1 smevdCameuet

137. Kavinder Singh Bisht is associated with which sports?

[A] Wrestling [B] Chess [C] Boxing [D] Cricket

“Kavinder Singh Bisht” THS aflenemum’ (B SiempCuwir®

OamLirenuiauymeurir?

(A) weduwSsLD (B) Q&erdd (C) @saiFgamionr. (D) &lifle0sL
138. Who has won the 2017 Ecuador Presidential election?

[A] Lenin Moreno [B] Rafael Correa

[C] Guillermo Lasso [D] Norman Wray

“2017 waQeuLmiv yFluir Csirsalled” wimir Qeudn Glumayerenmir?
[A] Lenin Moreno [B] Rafael Correa
[C] Guillermo Lasso [D] Norman Wray

139. Which movie has won the Best Picture award at 89th Oscar
Academy Awards?

[A] Story of Your Life [B] Moonlight
[C] Hidden Figures [D] La La Land

apg Slengliud 89%eug Qevstir efmgssTan fApps FSogiuLn aaw aflpHms
@S ILDHBlUIS)?

[A] Story of Your Life [B] Moonlight

[C] Hidden Figures [D] La La Land



140. Which state government has launched “RAHAT” project for
treatment of heart disease in remote and rural areas?
[A] Rajasthan [B] Madhya Pradesh [C] Chattisgarh  [D] Odisha

& LOMBl6v gm&rraﬂgu “RAHAT” aaip dIlLsms saiss wppd &ymou@g
@rb@gm Crmumellaser @amomLw Gouemipw aaghars Csmhmelssa?

(A) gregerbgmest (B) wgdlw SlyCaeib (C) #Lleabday (D) euqar
141. Find out the correct matching from the following:
List- I List - II
1. Indian Spaced Research organization Kota
2. Indian Institue of Science Ahmedabad
3. National Physcis Laboratory Mumbai
4. Indian Institute of Space Technology Trivandrum
(A) 1 only (B) 2 only (C) 3 only (D) 4 only
SIps @I UDMIGT 618 &rﬂu_lrra; Qur b gidm g
ulCiquied I uLiquied IT
1. @pglw ellewGleuall g yruiFs] eouid Caml L
2. @il gplailuied ipsid SIBLOSMTUTS
3. @pglw @uipiluied SyuieusLD (LpLbenL
4. @pglw aflewiGeuall S pTuIFs &paHbd S5 6ueTHSLFLD
(A) 1 i (B (B) 2 1o’ @ud (C) 3 1o’ @o (D) 4 w @b
142. Consider the following statement:
Assertion (A): Monoclonal anitobodies are the antibodies
produced by the cloned cells.
Reason (R) : They are used for treatment of viral diseases

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

SpEEemi. UTEEIBISMET H6ue:

apml (A) : oGz Cenmetterd a1l QUIM@BLS6iT TG
@Cenrar Gevaented o (HeurssLLlL eadliiy QummLser
2GLD.
srgewd (R) Beveu aeugad Coruisemer GaULILBSSLI
LwieTLB&leme.
(A) (A) wpm> (R) @yewipn &afl yemed (R) eaiug (A) alh@ gfluwmer
QTS HLOGOG

(B) (A) wpmid (R) @yewipd &l Cuweyd (R) aaiig (A) aflp@ gflwrear allendsid
(C) (A) af gpemed (R) seoumy
(D) (A) soupy syomrsd (R)

143. Janani Suraksha Yojana (JSY) was launched by National Rural
Helath Mission. Its main purpose is
(A) In entitles all pregnant women delivering in Public Helath institution
to absolutely free and so expense delivery, including caesarean
section.



(B) Aimed to trains health personnel in basic new born care.

(C) To promote intitutionaldelivery among the poor pregnant women.

(D)To eradicate polio in India covering children in the age group 0-3
years

Casdlw &lymo a@rsry egallamed, Gerimesi’ L gaefll sysagr Cuimgenr

(JSY) dlLgdlar Cprésiomeig.

(A) owass  sMoybDw  STUILTTSE@HL, Oursk  GsTSTy  Blneuesisaile,
Ogovallevoors, Beveusiorer (FeCrilwer o rur) Ulgseu o salluilomer Oums
SGS L WeuFTeuTi.

(B)Ulmbs  @wimsullar  pow  Cuamiusn@,  FHTHTT  LIGUITETS 65 E
gL Lullhdwieilsse.

(C) wpsaeuwmasailed smaybm g sruiomiser Ulysausdlmear Cumbsmerens
Olguizev.

(D) @pglumailed 03  auwdpGLulL  Gpbmssais  sreapd  CumelGuim
Grruilener (podlevid 58 @&S60.

144. Which of the following are the Rocket Launching Centre of ISRO?
1. Thumba 2. Sriharikota 3. Mahendragiri 4. Bangalore
(A) 1 and 2 (B) 1 and 3 (C) 2 and 3 (D) 2 and 4

Spaaaaupmper DevCurelar eflewiGeuall graGsl geoyseammsar eeaneu?
1. gubuim 2. Wadlfi@asriim 3. wlapslysi 4. Oumsiseerpi
(A) 1 wpoud 2 (B) 1 wpmup 3 (C) 2 wpmid 3 (D) 2 wpmidb 4

145. Dr. Visweswaraiah Science Museum in situated at
(A) Hyderabad (B) Bangalore (C) Mysore (D) Pune

LréLi efledGeuervguiwim JpErT. Flisd 2 6em B 1b
(A) wawsITLITS (B) Glumsiseersm (C) emwo@iT (D) y,eorm

146. W.H.O headquarters is situated at
(A) New York (B) London (C) Geneva (D) Moscow

2 W& G&THTy Quidasd Quikig Fmevenowll b Sewhs B b
(A) pluyuirirs (B) evewor_eor (C) Qegaflour (D) wrerd@sir

147. Match List — I with List-Il correctly and selct your answer using
the codes given below

List- I List - II
a. Assam 1. Onam
b. Gujarat 2. Mopin
c. Arunachal Pradesh 3. Bihu
d. Kerala 4. Makar-Sankranti
a b c d
(A) 2 1 3 4
(B) 3 4 2 1
(C) 4 2 3 1
(D) 1 4 3 2



UL 1quied I @ uguwe II eorar Gurmsd &Cp Oer@ssiu Berer
@Puipsmers Oasran® gflwrar alloramws CsimbOs®

ulCiquied I uLCiquied IT
a. 9FID 1. geviLd
b. &&rrs 2. Guomi il
c. omemmigev UlyGseaid 3. U@
d. Gasyemr 4. &] FRISTTHS]

a b c d
(A) 2 1 3 4
(B) 3 4 2 1
(C) 4 2 3 1
(D) 1 4 3 2
148. Who was called as the father of Indian archacology?

(A) John Marshal (B) S.R. Rao
(C)R. S. Bisht (D) Alexander Cunningham
Qg Cereelwelar shms aRIDMPSSILILL T wmiT?
(A) egrevt omTTOQIT (B) ererd>. gy i1. gmei
(C) @yr.erard. LilerdL (D) @QevsderomemiLir GeesimiamimLd

149. Who was the author f Tarikh-i-Mubarik-Shahi?
(A) Hasan-un-Nizami (B) Fakhr-ud-din
(C) Amir Khusro (D) Amir Hassan

Srflé-@-apurys-agrdluiler gyfflwic wmrir?
(A) awraar o e plemdl (B) us@mgar (C) oub @ad(m (D)oubT ammree

150. “If I were guilyt of an unjust, I would rise in judgement against
myself.” Whose statement is this?
(A) Babur (B) Akbar (C) Jahangir (D) Aurangazeb

“mrer. BFlé@ Lpwbutar Gon BLeauqsmasmer Gwp OGarerGeuemtuilar eenda
aglyren Siviewn prCer eupmidls GsmarGouar” @g wmmenw Fapm?

(A) umruir (B) @@uir (C) mammrmisit (D) @iaygmiséL
151. Match the following
a. Babar 1. Buland-Dar-waza
b. Humayun 2. Kabul Bagh
c. Akbar 3. Diwan-i-Khas
d. Shahjehan 4. Din-panch
a b c d
(A) 2 4 1 3
(B) 2 1 3 4
(C) 4 3 2 1
(D) 3 2 4 1



Qurp s gis

a. umuir 1. Ljver Sreumarm
b. eomuyer 2. BMY6ED LTS
C. QST 3. dleurad]l smerd
d. egremeammer 4. Slesiieorm

a b c d
(A) 2 4 1 3
B 2 1 3 4
(C) 4 3 2 1
(D) 3 2 4 1

152. Arrange in chronological order
(A) The First Battle of Tarain
(B) Arab Conquest of Sind
(C) Somnath expendition of Mahmud of Ghazni
(D) Establishment of Slave dynasty rule in Delhi
(A)2-3-1-4 (B) 1-2-3-4 (C) 3-2-1-4 (D) 4-1-3-2

&me eauflenaliLhsais

(A) apgevmd senguller Guimir

(B) pgeilar a1 Crilw e GwiELi

(C) sxail wrepsieier Cemoprsyy L QuiLiy

(D) OLevadlufled onqemp aubs 9y & BlmeuLiLiBSH6D

(A) 2-3-1-4 (B) 1-2-3-4 (C) 3-2-1-4 (D) 4-1-3-2

153. Which of the following statement is correct?
(A) Coronation of Shivaji 1674
(B) Treaty of Purandar, 1664
(C) Shivaji was born on 1637
(D) Shivaji breathe is last, 1666

Slpsseni. FapmiEeiled Fflureng o1g?
(A) Flaured) UL @Hqu yewi®B), 1674
(B) pBsT 2 LaiLgsmas, 1664
(C) Aourgd Ulobs pemi®, 1637
(D) flaurell @mps wewi®, 1666

154. Match List I & List II correct ans select your answer using the
codes given below

List - I List- II
a. Choleswara temple 1. Kulottunga - I
b. Koranganatha temple 2. Aditya - I
c. Balasubramanyan temple 3. Parantaka - I
d. Kampahareswara temple 4. Vijayalaya
a b c d
(A) 1 2 3 4
(B) 3 4 1 2
(@) 4 3 2 1
(D) 3 2 4 1



aflmg I & eaflms g Curmsd) Spssaicubpmer sflurar allaaws

Csipls®
auflens 1 aufleng 11
a. Gampeveugit Gamuiled 1. @Cnggmser - 1
b. Camymsprsear Camulled 2. gy slswer - I
c. umevaLilywenfluid Csmrulled 3. umgnbgser - 1
d. swuranfadeuy Gsmrulled 4. ellgguimevuie
a b c d
(A) 1 2 3 4
(B) 3 4 1 2
© 4 3 2 1
(D) 3 2 4 1

155. To get a high yield, which gene from Bacteria can be introduced
to non-leguminous crops?
(A) Togene (B) B2 gene (C) nif gene (D) antisense gene

weGme Psflss, ursefuralledmbgs aRSSOULE, ULIR DTS
SrouBisaie) OCFSSLILGL g 615I?
(A) T2 gheor (B) B2 gdair (C) Bl-.1 gheur (D) e_amiigen, gl

156. If 2% of x is 40, then 2% of (x+50) =
(A) 50 (B) 401 (C)410 (D) 41

X Beng 2% 40 eaafled, (x+50) o5 2%
(A) 50 (B) 401 (C) 410 (D) 41

157. Rate of bike is Rs. 17,000 the company gave Rs. 1700 discout to
the bike. Then what is the percentage of the discount?
(A) 15% (B) 25% (C) 5% (D) 10%

@F Bm i mmé?u_ﬂm @ﬁgyg allmev @B, 17,000 9bs Blmieuetd em.1700
SOTEnLIG eSS bF CUAGHES MDD SeT@pLIG FHMSLD eTeien?
(A) 15% (B) 25% (C) 5% (D) 10%

158. If “HYDROGEN” is represented as JCJZYSSD, how “ANTIMONY”
will be represented as
(A) CPVKOQPA (B) CRZQWABO (C) ERXMQSRC (D) GTZOSUTE

“HYDROGEN” eeamn  Oermedemer  “JCIZYSSD” ey  erpSlanmed
“ANTIMONY” aaiip Glamedenev eriig eaups Gouemi(BLd.
(A) CPVKOQPA  (B) CRZOWABO (C) ERXMQSRC (D) GTZOSUTE

159. A hollow cylindrical iron pipe is of length 35 cm. Its outer and
inner diameters are 10 cm and 8 cm respectively. Find the weight
of the pipe if 1 cu, cm of iron weighs 7 gm.

(A) 6.93 kg (B) 9.90 kg (C) 7.53 kg (D) 7.93 kg



@@ 2eeiLpn Bmby @wriler Hemd 35 Qb gt Qevell wHmLD 2 6
ol Lmisar wpedpCu 10 Oeid womd 8 &b aafled, BQmbys @pruller
aamLmw srans. (1 &.0s.15 @l ear. 7 &lymb)

(A) 6.93 & (B) 9.90 &é (C) 7.53 e (D) 7.93 &

160. Richard is fifteenth from the front in a column of boys, There
were thrice as many behind him as there were in front. How many
boys are there between Richard and the seventh boy from the end
of the column?

(A) 33 (B) 34 (C) 35 (D) 36

flegi’ eaeaeug @ euflmaulled @par Bpbg  15-6ug BUITS BlHElDTT.
Slaupe@ Ular, aper BmLiueuisellar eeaiailsamaulled epeiim LOLEE @I,
SumpE@Gw euflmsulled dar Bmba 7-ug Blhgw BuBsGD De G
15N [BLITHET 2_6Ternetir?

(A) 33 (B) 34 (C) 35 (D) 36

161. If 2 compositors can composed 60 pages of a book in § hours,
how many compositors will compose 200 pages of the book in 20
hours?

(A) 8 (B) 10 (C) 12 D) 11

12 o5gs Gamiueiser 5 wenll Cprsdled @M LSSSSIlE 60 LISSEIGMGT
guuir. 20 wenfl  Grrsdled 200 USSESMET (PQGES CTSSMAT  FHH
srLiLeuiTE6T Cpeneu?

(A) 8 (B) 10 (C) 12 (D) 11

162. A voluntary organization planted a total of 106 trees along the
road side. Some of the trees were fruit bearing trees. If the number
of non-fruit bearing trees was two more than thrice the number of
fruit bearing trees, what was the number of fruit bearing trees
planted?

(A) 20 (B) 22 (C) 24 (D) 26

@@  Seienien OsTewi(®)  [Blmieued @g Gzl  Op@ehgrenevuilear  Bm
Upmisefled wymiser BLLer Haupdled Heo safl Fmb wymsedr, sef syrs
wynisaiear deienilsens Fafl Wb wyEseafar  aavanllsanasuilar eIy
wLElsT® Quesiev.  gnliqarmed eu@pd. Corssd 106  FEEET BLLILL®H
BmpsTed @afl S kGl dauialsand seleuerTe?

(A) 20 (B) 22 (C) 24 (D) 26

163. Find the range of the following data:
25, 67, 78, 43, 21, 17, 49, 54, 76, 92, 20, 45, 86, 37, 35
(A) 78 (B) 75 (C) 92 (D) 86

&B Osr@ssiiu’ Berer alloaurmiseilar aifs eerer?
25, 67, 78, 43, 21, 17, 49, 54, 76, 92, 20, 45, 86, 37, 35
(A) 78 (B) 75 (C) 92 (D) 86



164. A is B’s sister, C is B’s mother, D is C’s father, E is D’s mother.
Then A is the ...ccccevvvvvnnenne of D.
(A) Grand Mother (B) Grand Father (C) Daughter (D) Grand daughter

A aeawueuir B-ar #@argf, C eaeameur B-ai grui, D-eaeuir C-a1 gaLie
wppd E eaueuir D-aii grui etaipmed A eraiteuir D-ufl@r .....ocovveniinniiniinnnen.

(A) i (B) srssm (C) e (D) Busg
165. Find out the missing term in the given alphabet series
AZ, GT, MN, YB
(A) JH (B) SH (C) SK (D) TS
Uereupd Gared Gariir euflmaulled aflGulL Qsrir ereiren?
AZ, GT, MN, YB
(A) JH (B) SH (C) SK (D) TS
166. What is the India’s rank in the 2017 IMD World Competitiveness
Index?
[A] 37th [B] 41st [C] 45tk [D] 28th

“IMD World Competitiveness Index” 2017-60 @Bguir eassmanureug
8L g3le> 2 eeng?

(A) 376ugy (B) 416ugy (C) 456ug: (D) 286ugy

167. Who has been sworn-in as the new Prime minister of Nepal?
[A] Bam Bahadur Kunwar [B] Sher Bahadur Deuba
[C] Tribhuvan Bir Bikram Shah [D] Kirti Nidhi Bista

Crureflar yglw lgsiwo whgflwurs wrir oyflwenen gplweuy wimir?
(A) LMD LISGT (& 6vreuTest (B) Gair usamit gmum
(C) gpouan Sy Sagmd agr (D) dling plgl erdLum

168. Purva Barve is associated with which sports?
[A] Cricket [B] Boxing [C] Badminton [D] Chess

“Purva Barve” apg allenenwum’ GLer O@TLjLenLwieur gyeumi?
(A) EiflgGleL (B) @saigeamionr.  (C) Cui il e (D) Glgard

169. Who is the newly appointed chairman of the Animal Welfare
Board of India (AWBI)?

[A] Mohan Singh Ahluwalia [B] Suresh S.Honnappagol

[C] Chinny Krishna [D] Sharad Singh Negi

“Capflus N VT 3, GG S 6tT WEAT, SOATTH wair
Blunblésri Heiremmir?

(A) Corser dm Seeuedluir (B) aG8yag ererd.CammeumimsGamed

(C) Slesrantl Elmagewnm (D) agmgr® &mi Cpdl



170. Match List I & List II correct ans select your answer using the
codes given below

List - I List- II
a. Respiration 1. Chloroplast
b. Protein synthesis 2. Mitochondrion
c. Photosynthesis 3. Dictyosome
d. Secretion 4. Ribosome
a b c d
m 1 3 2 4
B 4 2 3 1
© 3 1 4 2
m 2 4 1 3
aflmas g Qurmsd) Epsasaaupmer Fflurar aflmmwus Csibos®
aufleng 1 aufleng 11
a. Feurdldsed 1. &CemmCymilenmerbr
b. yraFlsisms 2. el GLramet Muime
c. galslarsms 3. 196198uir@gmib
d. sy5s560 4. aryGurBgmb
a b c d
a 1 3 2 4
B 4 2 3 -1
© 3 1 4./ 2
D 2 4 1. 3
171. Pick out the odd one out
1. Tuberculosis 2. Leprosy 3. Cholera 4. Polio
(A) 4 (B) 2 ©) 1 (D) 3
S0y @asn@asesuu‘_@mm eaTlear @urr@ggrrg, garen Cairb0s®:
1. &rg Gpmul 3‘@/1@ Grmui 3. &meogm 4. CumredGuur
(A) 4 B) 2 (©) 1 (D) 3

172. Which of the following statements is correct?
ATP Molecule consist of
(A) Adenine, Ribose sugar and two phosphate groups
(B) Adenine, Deoxyribose sugar and three phosphate groups
(C) Thaimine, Ribose sugar and three phosphate groups
(D)Adenine, Ribose sugar and three phosphate groups

Uleraumeuereubmier 618 aflwmer eurddlud?

ATP qapevdsnpled Sy midlueiieneney

(A) eugemenar, MGuTed gigasamy wpmid @rew® uredCul GgmELiy

(B) @ugemenar, 1qoy,sailifiCumed grdsamy womid epeim uradCul Gam@liy
(C) mgwibler, MGured gidaamy wpmid aparm uredGul GgmE@Liy

(D) @ngemenear, MGumed girgasay wpmid apaimy uradGul Ggm@Liy



173. The origin and conduction of heartbeat takes place through

1. Atrio Ventricular node 2. Sinu auricular node

3. Purkinje fibres 4. Bundle of His

(A) 1, 3, 4, 2 (B) 2, 1, 4, 3 (C)3,2,1,4 (D) 4, 3, 1, 2

Bsw Quisss gremied Csmaimed wHmLd UFeygeled QFwLEOLBL HHLOLILS 6T

1. gifCumr Gleuarl Mgeor &gy 2. e 9 Md@SeTT Hewm)

3. yidlergd Bevipser 4. alevdlar smewm

(A) 1, 3, 4, 2 (B) 2, 1, 4, 3 (C)3,2,1,4 (D) 4, 3, 1, 2
174. Consider the following statement:

Assertion (A): Menstruation happens at the end of Juteal

phase .
Reason (R) : The decrease in the progesterone and oestrogen

hormone levels brings about menstruation.
A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)
C) (A) is true but (R) is false
D) (4A) is false but (R) is true

— — — —

SlpdbBRIL  UTSSEILIBIGMET Souefl:

anpmi (A) : oy iquied planeowller @mugluiled wrsallmy gHLESIDS.

sryeond (R) LOrGgeviqrrer whpmid  FedLBrraar  anmiGoreaisefler

STLIL GMDeugaImed WISelLT goLBGSDS.

(A) (A) womd (R) Byewipw &afl pewmmed (R) ez (A) alh@ gfluwmen
TS HLOGOG

(B) (A) wpmip (R) @yewipid. &l Guwayip (R) araig (A) afilp@ gflwmear allendaid
(C) (A) af syemed (R). Foumy
(D) (A) goums opammed (R) &

175. Arrange the following according to Energy Flow in an Eco-system.

1. Producer 2. Top Carnivores

3. Herbivores 4. Carnivores

(A)1,3, 4, 2 (B) 3,4, 2, 1 ©) 4,3, 1, 2 D)2, 1, 3,4
GLblmwe eSSl Dmed @upadlaiig S saeuparn aflaaLiBss
1. 2 pugdlumen 2. 2 wiflw aflevmi@ 2 ewenilser

3. smeuy 2 ewienilaein 4. aflevmia o_emTeuildsei

(A) 1, 3, 4, 2 (B) 3, 4, 2, 1 (C) 4,3, 1,2 D)2, 1, 3, 4

176. Match List I & List II correct ans select your answer using the
codes given below

List - I List- II
a. Citric Acid 1. Stomach Jucies
b. Tartaric Acid 2. Tea
c. Hydrochloric Acid 3. Lemon Juice
d. Tannic Acid 4. Grapes



a b c
(A) 3 1 2
(B) 2 3 4
(C) 1 2 3
(D) 3 4 1

NP~ DA

aflmas g Qurmsd Epssanaupmer gflurar el mws Csibos®

aufleng 1
Mg eublevid
Lairmflés  eublevd

a0 op

Lrafls udlevd

(A)
(B)
(C)
(D)

WrH—LNWD
AN WO—T
R WANO

amanl Gy &Cenmfls udlevid

NSRRI NY -

auflens 11

. Bylienu B

. Capir

aIlFEF LipFFTm)
. ST eng

I—

A WN

177. Match List I & List II correct ans select your answer using the

codes given below
List - I

Bleaching Powder

Plaster of Paris

DDT

Potash alum

a0 o

EecE

A WON—®
Ww—=hrnNT
NN~ B»O

— B~ Wwa

List- II
1. Insectiside
2. Disinfectant
3. Purification of drinking water
4. Plastering the fractured bone

afls g Qurmssd Spssamnaupmer sflwurar el mws Csibos®

aufleng 1

FVEMGCUS SHT6T

umfled &b g

DDT

Quri Lmed Q&b
a

pogw

(A) 1
(B) 2
(€) 3
(D) 4

Ww~as>NT
NN~ DO

— B~ WWwa

ouflang 11

1. y&dla0smeved

. Slmilprdlef

. GQb@ SMUIMLLILGSSIS6

. (Db GTEIDELI L L eMeUSSHE)

A W N

178. Read the following statements with reference to fertlizers
1. Nitrogen is highly essential for rapid growth of plants.
2. Phosphate promotes early growth as well as early maturity of plants.
3. Potassium developes a healthy root system
Which of the statement(s) is/are correct?
(A) 1 and 2 (B) 1, 2 and 3 (C)1and 3 (D) 1 olny



2 griser QaTLiyemLw SPpsati aursSmIEmen LIQESaLb

1. ewpLymer, sreugmiseier Ceusomer eueamTedls@ DeuduIDTEISTEGLD.
2. sreugmEIseier gifls euemmédls@ wpafledas@n uTadCul Csame

3. auellemwowimen Geum syewioliens Gum’ Lrdlwib o (Heurd@Gdms!.

(A) 1 womd 2 B) 1, 2 wpmwp 3 (C) 1 wpoud 3 (D) 1 wl(w

179. Match List I & List II correct ans select your answer using the
codes given below

List - I List- II

a. Etching on glass 1. Zinc Carbonate

b. Calico printing 2. Bordeaux mixture

c. Skin ointment 3. Hydrofluroic acid

d. Fungicide 4. Potassium dichromate
a b c d

(A) 3 4 1 2

(B) 1 3 4 2

(C) 2 1 3 4

(D) 4 2 1 3

auflens g CQursd Spsasaieupmer Filwrer aloLamws Csimbés®

oufleng 1 aufleng 11

a. seauewing flsse0 1. Blmig asmirGenL

b. srelllasr FfHBe0 2. GuriLrged seovene

c. Camed saflbLy 3. waml Gy Liepfls opudlevid

d. smemmenr Gameved] 4. QumLrdlund e @CymCuor
a b c d

(A) 3 4 % 2

(B) 1 3 4 2

(@] 2 1 3 4

(D) 4 2 1 3

180. Match List I & List II correct ans select your answer using the
codes given below

List - I List- II
a. Newton 1. Elliptical orbit of planets around the
Sun

b. Johannes Kepler 2. Mas of the Earth
c. Cavendish 3. Helio Centric Theory
d. Copernicus 4. Law of Gravitation

a b c d
(A) 1 2 3 4
(B) 4 1 2 3
(C) 4 3 2 1
(D) 3 2 1 4



aflomas g Qurmsd Epssanaupmer sfwurar el mwus Csibbs®

auflans 1 auflans 11
a. Byl e 1. Caretsefler Hor eulL umenguiler
Buwissn

b. Cmramermed GasLien 2. yailuller plewm

C. HTAIMIIGNS 3. yeiluiler Blenm

d. GCsmuiplsed 4. yailufiy eilg)

a b c d

(A) 1 2 3 <

(B) 4 1 2 3

(C) 4 3 3 1

(D) 3 2 1 4

181. Consider the following statement:

Assertion (A): Centrifugal force is the force acting towards the
centre

Reason (R) : Butter is separated from curd due to centrifugal
force

A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)

C) (A) is true but (R) is false

D) (4A) is false but (R) is true

— — — —

SipsaeiL eursEmIEmen douel:

anpm (A) 2 awweaiwsd allms eaang omwwsans Crréd
GFwedL@D  aflenFuwim@Lb.
srgewd (R) - st sepLwiu@w Curg CeuenGlao

UNs0s@asLIBoug mwwailovdd allanauwmsd Srer
(A) (A) oo (R) @rewipn afl emed (R) eaiug (A) alh@ gfluwmer
RN IS
(B) (A) wpmub (R) Byewuipo &l Cuweyb (R) araiig (A) afilp@ gflwmear allendsid
(©) (A). o gpemed (R) soumy
(D)(A) 5wy yanred (R) o

182. Fuse wire has property of
1. High resistance and low melting point
2. Low resistance and low melting point
3. High resistance and high melting point
4. Low resistance and high melting point
(A) 1 is corret (B) 2 is correct (C) 3 is correct (D) d is correct

2 ®@ Devwp

1. 9dlas aigmLub Gopbe 2 (K& Blaoujh OlsTemi gi.

2. GODHS WAL GmDhs 2 (hE& Blaevud Clsream gi.

3. @dls aismLud Pls o mGBlmaown OClsme g

4. GoODHS WaismLubd NPls o pploevud Olerami g

(A) 1 &l (B) 2 &l (C) 3 &l (D) 4 &



183. Match List I & List II correct ans select your answer using the
codes given below

List -1 List- II

a. Chinook 1. Northern Italy
b. Foh 2. Thar Desert in India
c. Sirocco 3. USA
d. Loo 4. Sahara Desert

a b c d
(A) 1 3 2 4
B 2 1 4 3
(C) 3 1 4 2
D 4 3 2 1
aflmas g Qurmsd) Epsasaaupmer Fflurar aflmmwus Csibos®

auflns 1 auflens 11

a. deiars I. L&E Bosme
b. ebumer 2. @pdlwuneiler smiT LTmEGIRILD
c. &lgraCar 3. Quiflss wedlur BTEH
d. e 4. FSTIT LITEGEVGUGILD

a b c d
m 1 3 2 4
B 2 1 4 3
© 3 1 4 2
D 4 3 2.1

184. Choose the correct statement
(A) Andaman sea lies between Andaman island and Taiwan
(B) Andaman sea lies between Andaman island and Thiland
(C) Andaman: sea lies between Andaman island and Cambodia
(D)Andaman sea lies between Andaman island and Malaysia

gflwunen anmsdliusans Csib0ls®

(A) @ipawrar Soys@d, STWIMT@IGEGL BaLulled 2 ater SO HBSOTET HL 6D

(B) @mbaworar Sayd@d, STUIOTHGIGEGD Qe uilsdd 2 6Ten SL HSLOTE L 6D

(C) wpswrar ays@ smblumquiteyds@n  BamLullsd o 6o &L  DbSLOTE
&HL6D

(D) @psiorear Soys@n wlodwurailh@n BamLuiled 2 atarT L6 bHSLOTET HL 6D

185. Consider the following statement:

Assertion (A): The Constitution of India contains seven
Fundamental Rights at the beginning. Now, the
Constitution of India classified the Fundamental
Rights under six groups.

Reason (R) : Right to Property has been abolished by the 44th
Amendment Act, 1978

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true



Spssei aursElumismen seuefl:

anpm (A)

amyewid (R)

(A) (A) P

(
(

T8 FHLDEV6V

(A) wpmd (R) @yewipd &l Cuwed (R) araigy (A) aflb@ aflwmrer allendsid

Qi owdfluevenwiny OsrLéssdled g ngrient
2 flewsmens Oarainqmbsg. SHOUTS QM gL,
2 flenws6r smer 2 eirener.

1978-60 446ug SflwevewliLg FLLSSHSSSI@T  LIq,
Genggiflemwerwiang gL w_rﬂmwu_%ﬂ@ibgj b&8&Lb
Qawiwi Geil’ L gl

(R) @yewmip> &fl yemed (R) eeiugy (A) aflpe gflwmer

B)
(C) (A) af syemmed (R) Soumy
D)

(A) seuny emmed (R) &l

186. Match the following

List -1
a. President
b. Prime Minister
c. Chief Minister
d. Governor
a b
(A) 1 2
(B) 2 4
(C) 2 1
(D) 4 2
Oumrpdgis
aufleng 1
a. GQUIssH SHM6EV6UT
b. Jlysio oemwéeir
C. (IPSVHIDFFT
d. oy emmT
a b
(A) 1 2
(B) 2 4
(C) 2 1
(D) 4 2

List- II
. Real Head in the State Executive
. The First Citizen of India
. Nominal Head in the State Executive
. Head of the Government of India

A WDN —

W W~ WO
— hwW P

ouflang 11
OTHlVSSET 2 GHTENLOWITET ST
Bndurailear (pFHed (@HGLog 6T
wrplevsdler Guuwirereyd emeveur
Bl SpammsSSlar Smeveu

L b=

WWH— WO
— WP a

187. Consider the following statements:

. Secretariat is the nerve centre of the State Administration

. District is the besic unit of administration in India

. The District Collector is the head of the District Administration.

1
2
3
4

(A) 3 is not correct

. Governor

is

the administrative head of the State

Administration.7401374056
Which statement is not correct?

(B) 4 is not correct

(C)T and 2 are not correct (D) 3 and 4 are not correct



SpsEeiL UTSEIBISMENE & 6uadSaLD

1. rBlev Blteunsddlesr Byl wewievwrs GCFWeED 2 6iTeng).

2. @pdlw plrourssdlear SIqUILIDL SieVSTS TOULLLD 2 66N

3. wTeul L Qﬂﬂﬁﬁunas;éém f@)@)@.’gn& wreul L gy FuITeni o eirenmi.
i &1 bl

4. wrplev Blieurss UTHS SHECVGUTTEH Y @GHBT 2 GTGNTIT.
Qeoupmyer o181 Seumy?

(A) 3 L@ Seum) (B) 4 @ Heumy

(C)1 womid 21 Heupy (D) 3 wpmib 4 seumy

188. Which is the correct statement?
1. Indian Constitution is a written one
2. Indian constitution consists of features of both flexible and righg
constitution.
3. Indian Constitution established a Securalr State.
4. Indian Constitution is against the Federal System of Government.
(A) 1 only correct (B) 2 only correct
(C) 1, 2 and 4 only correct (D) 1, 2 and 3 only correct

gflwrer efloLews Csib0s®

1. @il Sduevenioliy eupaLiLIL L SFdluievenLoliL

2. @il ofucvenoliy Gpslpw, OCpslpr BuwiedLjemuisl.
3. @pglw SFucveioliy WSFTTLUDD THF 2 LUIG).

4. @il SFucveIoliL] L LTLS (pevn DIF&isSE THTens).

(A) 1 @G &l (B) 2 wL@Bw &ifl
(C)1, 2 woHmub 4b L G &l (D)1, 2 wpmd 3 wi B il
189. Match the following
List - I : List- II

a. Act 153 1. National Emergency
b. Act 163 2. Governor
c. Act 352 3. State Emergency
d. Act 356 4. Chief Minister

a b c d
(A) B 2 4 1
(B) 1 3 4 2
(C) 4 3 2 1
(D) 2 4 1 3
Oumr g gis

auflans 1 auflans 11

a. ailgl 153 1. Cadlw SeuagBlaney
b. ailgl 163 2. Q@B
c. aildl 352 3. Il Seugy Blavevy
d. ailgl 356 4. (PSDMLOFFT

a b c d
(A) 3 2 4 1
(B) 1 3 4 2
(C) 4 3 2 1
(D) 2 4 1 3



190. 7 men can complete a work in 52 days. In how many days will 13
men finish the same work?
(A) 20 days (B) 13 days (C) 7 days (D) 28 days

7 oLaar @ OCaemewew 52 priselled Oesuls wysdlapeanr. 90s
Coumevenws 13 YL &6i1 c1SFmar BT sened GFuig (LPQLILIMTESET?
(A) 20 prisar (B)13 mriser (C) 7 prisser (D) 28 mriser

191. Find the missing number in the following:
4242, 4254, 4230, 4266, 4218, 4278
(A) 4264 (B) 4272 (C) 4228 (D) 4206

&8 Gar@asrul@erer eewi euflmsulled allPULL eremrenemis @ewiHLlg
4242, 4254, 4230, 4266, 4218, 4278
(A) 4264 (B) 4272 (C) 4228 (D) 4206

192. The average of 4 values is 20 and when a quantity is added to
each value the average is 22. Find quantity.
(A) 1 (B) 2 (€) 3 (D) 4

4 waliyseilar sgradl 20 @w. @@ oav 4 wFysaflend &L Ll
ggmal 22 erafled FnlLLOLLL 61601 eTaiTe?
(A) 1 (B) 2 (C) 3 (D) 4

193. Find the principal that yield a compound interest of Rs. 1, 632 in
2 years at 4% rate of interest per annum
(A) Rs. 10,000 (B) Rs. 20,000 (C) Rs. 30,000 (D) Rs. 40, 000

4 g3eisd Yeui® el GIBLILILG 2 YaviBsalled @h. 1, 632 &l( eullq S(HLD
TIDTED SIFWEVH BHEMIBBIL QYLD.
(A) ¢m. 10,0000 (B) em. 20,000 (C) em. 30,000 (D) ¢p. 40,000

194. Mohan started from point P and walked 2 m towards west. He
then took a right turn and walked 3 m before taking a left turn and
walked S m. He finally took a left turn, walked 3 m and stopped at
a point Q. How far is point Q from point P?

(A) 2 m (B) 6m (C) 7m (D) 8 m

Curaar eameur P aawim @ sdlelmbg yoil® CwnGs 2 5 gmyd GFevdlpmir. e
oueliudsd Slmwll 3 15 gmyb 8&651@], @Liussnd Fmbd 5 b gmyp OFaiy,
Bpdlure @Liussnd ool 3 15 g Gy Q awip BLsms mLBSTT. Q
araip Lerafl P-ueiaflufled @mpba eraieueney gmyssled Bmédmg.

(A) 2 b (B) 6 16 (C) 7 16 (D) 8 16
195. Match the following
List - I List- II
a. IMF 1. Lower Servicing Charge on Loans
b. WTO 2. Separate legal entity
c. IFC 3. Resolving trade disputes
d. IDA 4. Short term credit institution



a b c d

a 2 3 1 4

B 1 2 4 3

© 4 3 2 1

W 3 4 1 2

Qumrp s gis

aufleng 1 aufleng 11

a. uaren® Blgl Blmeued 1. @owbg auliquild Bld 2 gall

b. 2. 008 TdHss HenoLiL 2. FlLyfteu satl Blgl S MyLd

c. uaiemml® Blgl spsLb 3. QUTSS5 SBITMIHMET MEBUITETHED

d. uaieTC L euaTT&dls Spsd 4. GMSWSTEL SLGT GUPEIGD Blmieued
a b c d

a 2 3 1 4

B 1 2 4 3

© 4 3 2 1

D 3 4 1 2

196. Match the following
List - I List- II

a. Land Reforms 1. National Social Assitance Programme
(NSAP)

b. April 1999 2. Employment Assurance Scheme (EAS)

c. August 15, 1995 3. Jawahar Gram Samidhi Yojana (JGSY)

d. October 2, 1993 4. The Abolition of the Zamindari System
a b c d

(A) 4 3 il 2

(B) 1 4 2 g

(C) 3 %, 4 1

(D) 2 L 3 4

Sipssemioupenp Filwirst QLmmSgis

aufleng 1 afleng 11

a. ploo &gl mssmiser 1. pIL@® Feps 2 salsdl b (NSAP)

b. gliged 1999 2. Goueweveuruiiy e midlsgl b (EAS)

c. gaad® 15, 1995 3. meusndlymd Ceuemeveuruiiy g (JGSY)

d. osCmuir 2, 1993 4. gbeisTi (pewm @IS S b
a b c d

(A) 4 3 1 2

(B) 1 4 2 3

(C) 3 2 4 1

(D) 2 1 3 4

197. How many electrons are there in one coulomb charge?
(A) 1.6 x 10-19 electrons (B) 6.25 x 1018 electrons
(B)6.25 x 10-18 electrons (D) 1.6 x 101? electrons



1 ga@mbd WS LGS0 2 6iten erevsL graiseiler aaeailsamas essamen?
(A) 1.6 x 1019 erev8 L gresiaseir (B) 6.25 x 1018 arevsL greaigser
(C)6.25 x 1018 arevsL_gmesraseir (D) 1.6 x 1012 erev&L_gresigsair

198. A bullent of mass 15g is horizontally fired with velocity 100 ms-!
from a piston of mass 2 kg. Total momentum of the pistol and
bullet before firing is equal to
(A) Zero (B) 201.5 kgms-! (C) 215 kgms! (D) 200 kgms-!

15 aﬂymo Bleopweirenr  grinsdl @ewi 100 el Ceussgled &lewLiolLoms
SLOLGEDS.  FIimsaluiler gmp 2 gl eafled H@uSHEG &I FHLILTSHES

wHpd @Gevi® PEweupDler OorTss 2 s ererer?
A) s (B) 201.5 . Bal (C) 215 £l Bafl (D) 200 .. Bal

199. What is the chemical name of DDT?
(A) Dichloro diphenyl tricholor ethane
(B) Dichloro diphenyl tribromo ethane
(C) Diphenyl dichloro trichloro ethane
(D) Diphenyl dibromo trichloro ethane
DDT ufler Geugl's Guuwiir ereiren?
(A) oL &CemnCyr ewLiemeed ey ConmCym g CsHent
(B) oL &CamnCym ewriemened 1qewnyLCrmCio  maCs e
(C) mriemaned enL(&CennCymr qeny@ComnCrm r&Cspenr
(D) o emmed enyGyaCiom qeny@CenmCpm &Gzt

200. The Kinnerasani Wildlife Sanctuary is located in which state?
[A] Andhra Pradesh [B] Kerala [C] Telangana [D] Tamil Nadu

“Kinnarasani” eaenafleosis syemmeowd apbg oTbleosdled Siemionbgiemeng)?
(A) plyilrCs sib (B) Gesyemm (C) Gsgumsram (D) sllpsr@
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1. A | 21.C 41. D | 61. A | 81. B | 101.D | 121. B | 141.D | 161.B | 181.C
2. D | 22. A |[42. A | 62. C | 82. C |102. C| 122. B | 142.C | 162.D | 182.D
3. B | 23. B |43. A| 63. B | 83. A [103. A| 123. A | 143.C | 163.B | 183.C
4. B | 24. B (44. A | 64. C | 84. C |104. C| 124. A | 144.A | 164.D | 184.D
5. C | 25. D |45. A| 65. C | 85. B [105. C| 125. B | 145.B | 165.B | 185. A
6. D | 26. A |46. A  66. B,| 86. B |106. A| 126.B /| 146.C | 166. C | 186.B
7. C|27. D |47. B| 67. B | 87. D |107. D| 127.B | 147.B | 167.B | 187.B
8. D [28. D |48. C| 68. C | 88. D |108. D|.128.C | 148.D | 168.C | 188.D
9. B | 29. B 49. A| 69. D 89. D 109. A| 129.C | 149.B | 169.D | 189.D
10. D| 30. A |50. C|70. C|90. D 110. A| 130.A | 150.B | 170.D | 190.D
11. B| 31. B |51. A|71. D |91. B |111. D| 131.B | 151.A | 171.A | 191.D
12. D | 32. B |[52. D| 72. B | 92. A [112. C| 132.D | 152. A | 172.D | 192. B
13. €| 33. C|53.C|73. D |93. B [113. D| 133.A | 153.A | 173.B | 193.B
14. A | 34. B |[54. B| 74. A | 94. A [114. C| 134.C | 154.C | 174.D | 194.C
15. A|35. D |55. C|75. D |95. D |115. A| 135.B | 155.C | 175.A | 195.C
16. D| 36. D |[56. A|76. D | 96. C |116. A| 136.D | 156.B | 176.D | 196. A
17. €| 37. B |5§7. B|77. B |97. C |117. C| 137.C | 157.C | 177.B | 197.B
18. C| 38. A |[58. B|78. D | 98. C |[118. D| 138.A | 158.B | 178.D | 198. A
19. D| 39.A |59. D|79. C [ 99. C |119. C| 139.B | 159.A | 179.A | 199.A
20. €/ 40. C |60. C |/ 80. D | 100.D | 120. B| 140.A | 160.C | 180.B | 200.C
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